UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LM102

NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 21.07.2014 DESCRIPTION:
APPVD Play Centre JOHANNA
Tiptiptap OU
Veetorni 9, MATERIAL:

A Tiptiptap™

Juri alevik, Rae vald,
75301 Harjumaa

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:35

SHEET 1 OF 16




safety area

W
OOO
)
o
S
o)
Y
1000
1)
i
R iy
) 9
Q <
™ .
1500
<t —
w \ ’ 1EX 1 1 1 I 111 QQ Q §
- 1540 PR | (FEEEEEEEE B 3 <
< S ol
R —
& ‘;I( 2000
< ATN = Py
S &
Lo
= S >
S
— Y
Y
- 8689 -
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM LM102
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 21.07.2014 DESCRIPTION:
APPVD Play Centre JOHANNA
‘5 Tip’ripTTop (gU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:60 SHEET 2 OF 16




1 2 3
foundation
850 1692,45 850 1642 -
)
)
676
v
N . .
N 1
(sp]
o
_ o
< =
3 Y Jm~ I  F~N EMN \
PO oY 4
| | | | 8
=0 - =D
o
| | m g
"O-A |
\01
R
Y
706
Y
C
. 8689 _
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM LM102
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 21.07.2014 DESCRIPTION:
APPVD Play Centre JOHANNA
?‘.P‘ T- t- t oU Tl\F/Délg’rTgr?“(g,U MATERIAL: .
g PUPLAP ™ o alevik Rae vald, wood, metal, plastic A4
P 75301 Harjumaa
WEIGHT: | SCALE: 1:60 SHEET 3 OF 16




5175

|

3803

3353

4]

1550

-
1

1200

4941 5149

- e}

DIMENSIONS ARE IN MILLIMETERS PARTNUMBER / DWG NO:
WEIGHT ARE IN KLOGRAMM LM102
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 21.07.2014 DESCRIPTION:
APPV'D Ploy Centre JOHANNA
‘5 Tiptiptap OU
T ' H ouU Veetorni 9, MATERIAL: )
TX%P Tl ptlptap JUri alevik, Rae vald, wood, metal, plastic A4
) 75301 Harjumaa
WEIGHT: | SCALE: 1:70 SHEET 4 OF 16




A
14H
B
8
1 platform3
C
1 platform1 13 E '1platform2
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE N KILOGRAMIM LM102
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 21.07.2014 DESCRIPTION:
APPVD) Ploy Centre JOHANNA
?‘.P‘ T- t- t oU Tl\?gggr%%,l‘] MATERIAL: .
TX;’P Ip Ip ap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:55 SHEET 5 OF 16




1 2

M PART NUMBER DESCRIPTION QY.
1 |platform laminated wood, metal 3
2 |stairs h.200 laminated wod 1
3 |panel 750x600 plywood 4
4 |panel 750x750 plywood 3
5 |panel 750x750 plywood 1
6 [slide guard block plywood, metal, plastic 2
7 |slide h_950 stainless steel, PE plastic |
8 |slide h_1550 stainless steel, PE plastic 1
9 linclined rope bridge PP covered steel wire 1
10 |roof plywood 2
11 |inclined climbing net h.1200 wood, PP covered steel wire 1
12 |guardrail @25x770 painted steel 1
13 |post 98x928x2350 laminated wood 6
14 |post 98x98x2800 laminated wood 4
15 |panel 750x750 with logo 15mm plywood 1

DIMENSIONS ARE IN MILLIMETERS PARTNUMBER / DWG NO:

WEIGHT ARE IN KILOGRAMM LM102

APPVD — Play Centre JOHANNA
A Tidimtanol | Veoloms.  fwm
TR%P Ti ptlptap Juri alevik, Rae vald, wood, metal, plastic A4

75301 Harjumaa

WEIGHT: | SCALE: 1:55

SHEET 6 OF 16




6
A
5
,ﬂh/"\_\
’ SIS post R
ground . 3
11
3 1, 2 2 /1,3 {0} !
\\ \B N - - - T
C lE o o
I§ o
L N
/ ; /> \X\ concrete
P! o
31 2 2 \1 3 | 3
o
un
i
#4
P 1
4= %300
1 N PART NUMBER
) 1 |screw DIN7504K 5,5x50
£ 2 |nut cover Mé
3 |nut cover cap Mé
4 metal ground fixing L_600
5 |plastic cap 115x115
6 |woodscrew 6 x 90
DIMENSIONS ARE N MILLIMETERS PARTNUMBER DG NG
WEIGHT ARE IN KILOGRAMM LM ] 02
proves — " Play Cenfre JOHANNA

A Tiptiptap™

Tiptiptap OU
Veetorni 9,

Juri alevik, Rae vald,
75301 Harjumaa

connecting metal ground fixing to post

MATERIAL:

wood, metal, plastic A4

WEIGHT: | SCALE: 1:8

SHEET7 OF 16



ITEM PART NUMBER

1 |bolt DIN603 M10x100

olt DIN603 M10x60

nut DIN985 M10

nut cover M10

2
3
4 |woodscrew 6 x 90
5
6

nut cover cap M10

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM LM ] 02
NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 21.07.2014 DESCRIPTION:
APPV'D Play Centre JOHANNA

. Tiptiptap OU connecting platform to post

17, = = ou Veetorni 9, MATERIAL: .

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:15 SHEET8 OF 16




4, 5 6

3 1 |2

6 5¢C 4 ’ °
ﬂ'a
gy
3 1 2
panel
\pos’r
e ITEM
NO. PART NUMBER
1 |corner 48x60
2 |bolt DIN603 M10x100
3 |bolt DIN603 M10x30
4 |nut cover M10
5 |nut DIN985 M10
6 |nut covercap M10
WEIGHT ARE IN KILOGRAMM LM] 02
prove -  Play Centre JOHANNA
- Tiptiptap OU connecting panel to post
A . = (] Veet i9, MATERIAL:
-'{EP Tiptiptap® ju: dievik rae vaa, wood, metal, plastic A4
7530] HorijOO WEIGHT: | SCALE: 1:10 SHEET 9 OF 16




handrail

platform

handrail

e PART NUMBER
1 |bolt DIN603 M10x60
ground fixing 2 |bolt DIN603 M10x70

3 |nut cover M10

4  |nut DIN985 M10

5 |nut cover cap M10

6 |wood screw DIN571 10x100

7  |bolt DIN603 M10x45

8 |domed cap nut DIN1587 M10
R M2
ii:vws — — Play Centre JOHANNA

AP

A Tiptiptap®”

Tiptiptap OU
Veetorni 9,

JUri alevik, Roe vald,

75301 Harjumaa

connecting stairs to post and platform

MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:15

SHEET 10 OF 16




ground fixing

/

DETAIL A
SCALE1:5

PART NUMBER

olt DIN603 M8x30

bolt DIN603 M8x50

nut DIN985 M8

nut cover M8

nut cover cap M8

olt DIN603 M10x50

nut DIN985 M10

nut cover M10

nut cover cap M10

5\000\|o~cn4>wr\>—

corner 58x30

11

metal screw DIN 7380 M8x16

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME SIGNATURE DATE

REVISION

PART NUMBER / DWG NO.:

LM102

DRAWN M.Rebase 21.07.2014

APPV'D

AP

Tiptiptap OU

\TY N J Veetorni 9,
-?r"'ﬂ’ Tl ptlptapou JUri oleeveikélr?rge vald,

75301 Harjumaa

DESCRIPTION:

Play Centre JOHANNA

MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:12

SHEET 11 OF 16




ground fixing

DETAIL A
SCALET:5

PART NUMBER

olt DIN603 M8x30

olt DIN603 M8x50

nut DIN985 M8

nut cover M8

nut cover cap M8

olt DIN603 M10x50

nut DIN985 M10

nut cover M10

nut cover cap M10

corner 58x30

—|o| 0o (Nfos gl AW IN =

screw DIN 7996 d.6x50

12 |metal screw DIN 7380 M8x16

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

LM102

DRAWN M.Rebase

21.07.2014

APPV'D

DESCRIPTION:

AP

A Tiptiptap®”

Tiptiptap OU
Veetorni 9,

JUri alevik, Roe vald,

75301 Harjumaa

Play Centre JOHANNA
connecting slide to platform

MATERIAL:

wood, metal, plastic A4

WEIGHT:

| SCALE: 1:12 SHEET 12 OF 16




6( 9( 5

g T
T i&;ﬁ”{
o | [5H
T
U]

slide

It is important to drill 8,5mm holes
through side panel and slide.

N PART NUMBER

1 |slide guardrail
2 [slide side panel
3 [slide side panel fixing 40x120
4 |side panel 110x780
5 |nut cover M10
6 |nut covercap M10
7 |bolt DIN931 M10x50
8 |bolt DIN603 M10x30
9 |nut DIN985 M10
10 |bolt DIN603 M10x100
11 |bolt DIN603 M8x45
12 |nut cover M8
13 |nut cover cap M8
14  |nut DIN985 M8

UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:

WEGHT ARE IN KLOGRAMM LM102

APPVD Play Centre JOHANNA

‘5 o ) Tiptiptap OU
LA Tiptiptap® joiden Reevaa - wood, metal, plastic A4

AP

75301 Harjumaa

WEIGHT:

| SCALE: 1:12 SHEET 13 OF 16




DETAIL

SCALE1:9

A

1y

DETAIL C

SCALET:9

e

DETAIL B
SCALET:9

ITEM
NO.

PART NUMBER

roof fixture

corner 60x60

nut cover M8

nut cover cap M8

olt DIN933 M8x30

nut DIN985 M8

N[O MWD

wood screw DIN571 8x60

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

LM102

DRAWN M.Rebase

21.07.2014

APPV'D

AP

A Tiptiptap®”

Tiptiptap OU
Veetorni 9,

JUri alevik, Roe vald,

75301 Harjumaa

DESCRIPTION:

Play Centre JOHANNA
connecting roof to post

MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:18

SHEET 14 OF 16




ITEM
NO.

PART NUMBER

1 |bolt DIN603 M10x100

2 |nut cover M10
3 |nut DIN985 M10
4 |nut cover cap M10
5 |nut cover for beam M10
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM LM102
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 21.07.2014 DESCRIPTION:
APPV'D Play Centre JOHANNA
‘p Tiptiptap OU connecting bridge to post and platform
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:11 SHEET 15 OF 16




inclined rope
bridge

ground fixing

platform

PART NUMBER

1 |nut cover M10

nut DIN985 M10

nut cover cap M10

olt DIN603 M10x60

domed cap nut DIN1587 M10

bolt DIN931 M10x70

NN WIDN

olt DIN603 M10x50

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

LM102

DRAWN M.Rebase

21.07.2014

APPV'D

AP

A Tiptiptap®”

Tiptiptap OU
Veetorni 9,

JUri alevik, Roe vald,

75301 Harjumaa

DESCRIPTION:

Play Centre JOHANNA
connecting inclined rope bridge to platform

MATERIAL:

wood, metal, plastic A4

WEIGHT: | SCALE: 1:12 SHEET 16 OF 16




	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet5
	Drawing View7

	Sheet6
	Sheet7
	Drawing View8
	Drawing View9

	Sheet8
	Drawing View10

	Sheet9
	Drawing View11

	Sheet10
	Drawing View12

	Sheet11
	Drawing View13
	Detail View A (1 : 5)

	Sheet12
	Drawing View15
	Detail View A (1 : 5)

	Sheet13
	Drawing View17

	Sheet14
	Drawing View22
	Detail View A (1 : 9)
	Detail View B (1 : 9)
	Detail View C (1 : 9)

	Sheet15
	Drawing View21

	Sheet16
	Drawing View20


